| 2 | 1

C-C(0,5) D(1:1)

@7 - 37 tief %

M8x1

37

9
M8x1
T
- 1
i
A TR EE e =2
\ \ A | lr————T:—- A pil
\ I
/ I > L ——Q ———I ————— I— _— L NJ
/ M8x1 —_
C |:____|L_____IE::
/‘ M4x0.7 - 20 tief -
@71 (TK-@) 11>
A-A (0,5)
18 (94)
(o)) g bnl 8
Nl ST 1" =,
— | 5 (o) A
ISUIRSY IS
i
' 22
C:\VAULT WORK\Dokumente\Projekte\DABE\Ru afmaschine) DB-RML-OfMpt
Konstruiert von Gewicht Werkstoff AWS-Art.-Nr.: Datum MaBstab:
M8x1 / 40 Witte 1,13 kg Aluminium 6061 15.05.2012 05
SCHLEIFER DB-RML-0001
Masg:]'q”;;"ba“ AlU-Flanschlagergenause  |siattarobe|  Biart
fiir Meya Seitenbalken A3 L/1

6 I S I 4 4& 3 I I 1




